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Topic:- Child Development & Pedagogy (CDP)

1) In what part of memory does chunking occur? / '\qiﬁf & foa 1%@ o i (TvsH) 'bﬁ?ﬂ %?
1. Short term memory /ag-m?ﬁ'—r Vjﬁf

2. Long term memory / bR gﬂﬁf

3. Sensory register / Tact Iorer

4. Working memory / T W (a1 AERY)

Correct Answer :-

« Short term memory / TY-HTclA Wi
2) An anxiety disorder is characterized by :/ TP e fapr & faywar %:

1. An excessive or aroused state characterized by feelings of apprehension, uncertainty, and fear. / Tch e a1 Saford fRUfa i i Gﬂ'-‘ZTW, SfAfrean
3R Ug P} UrgIaT Bt faRwar g1

2. Disordered thinking / ﬁ% a1

3. An emotional condition classified by excessive checking/ 3P S gR d‘ﬁq)d TS HIaHTHS AT |

4. An emotional state identified by panic attacks / P 31Eeh T aoTg T Ueh HIG-THD fRUF|

Correct Answer :-

« An excessive or aroused state characterized by feelings of apprehension, uncertainty, and fear. / Yoh i a1 Jafrd fUfa ot fos simeieer , SfAfrear
3R g P UrgTaT Bt AR B

3) A devoted teacher would adopt to arouse interest of the learners. /| Th gHfda ﬁT&W Ca ﬁT&ITQﬁ Bl =R & "%I'E‘,'
P AT I

1. Demonstrative methods / u‘&ﬁ fafa
2. Innovative methods / aremst fafdr
3. Easy methods / 3T fafy

4. Direct methods / el fafd

Correct Answer :-

« Innovative methods / ATt fafdr

4) variations in social values can be attributed to: / JHITS W -] dgdid 3l H'FI%? ﬁl"! ﬁﬂﬁm ‘Sexidl ST Ihdl %:
1. Reducing inequality / 3IHTAT P HH BT

2. Social change /TR aRad=

3. Social mobility / FTHTI TcrRiTear

4, Transmission of culture / W CARIERYS

Correct Answer :-

o Social change /T TRadH

5) According to the view of a schema includes both a category of knowledge and the process of obtaining that knowledge. /

F TP F IR, TH w1 & J Ft T Joft 3R 37 79 F1 U A B uftear A e g
1. Jean Piaget / ST foraTS!



2. Erik Erikson /U P %Tm?
3. Jerome Bruner / SIRTH EGR
4, Sigmund Freud / s s

Correct Answer :-

e Jean Piaget / \_rﬁ:[ W

6) Teachers have to deal with ______of learners. / RGP P Rramff &t S Ay S s usar 2l
1. Inclusivity / FHTARIET

2. Diversity / fafgeram

3. Diverge / fog@

4. Giftedness / TfHTRISl

Correct Answer :-

« Diversity / fafaerar

7) Teaching Pedagogy Influences the performance of children as it enables the child i ﬁT&I'UT URA g & ua‘sh 1 yHTad Har %
i 98 9= B o &y aTaT B

1. to practice similar things again and again / JHIT ISl BT IR-TR 3 H

2. to be more disciplined / 3HfYp Wﬂm Eﬁ:ﬂ

3. to do more class work and home work / 3RS HET BT (FAY Teb) 3R T[6-HH (819 Tab) HIAT
4. to listen and engage in learning / ferm & g1 3R I gl

Correct Answer :-

« to listen and engage in learning / 3iftrme A AT 3R I g

8) John uses clinical interviews in his class to know the problems of students. This shows his role as a . /\_rl'h amﬁﬁwﬁma’rm"r

TS B 9 F T A e AeTeR ST HRare | TSHst Yfie el Fud gmifargl
1. Co-learner / Tg-fRemeff

2. Negotiator / ATAIHR

3. Classroom researcher / F&fT 3-ANd

4. Facilitator / URT&/®

Correct Answer :-

o Classroom researcher / D&l 3AYH

9) Who proposed language and thought to be independent? / fra yanfaa fan fF vy ok foaR w@da 3-1% %'?
1. Vygotsky / mﬂa’ﬁ
2. Piaget / foarsr

3. Kohler /W
4, Chomsky /%r“rnw‘?

Correct Answer :-

« Chomsky /W

10) Assessment for learning involves / 3R P siipa- & Tie %

1. sharing exemplars at different levels of success according to certain criteria / P& AFCSl & SR Jhcldl & faftrs TR IR Iererv ﬁ?ﬂ%ﬂ
DAl

2. providing grades or marks against students work /W%W?ﬁﬂﬂﬁﬁ’s’m 3{h Y& HAT



3. summative use of formative assessment / WWWWW
4, use of tests and exams /Uﬁ&‘l'UT ﬁ?qﬁ&ﬁﬁw

Correct Answer :-

« sharing exemplars at different levels of success according to certain criteria / S H ISl & WW?WWW ARV RSIE ]

11) Which of the following is not a teaching skill in inclusive education? frafafaad aﬁqmﬁﬂﬁfmnﬁw ﬁr&ma?rmﬁqé’r%o
1. Blackboard / SIPHEIS

2. Questioning / Y& AIS

3. Problem solving / THYT JHTYUTT

4. Reinforcing / J€e I Y&

Correct Answer :-

o Blackboard / @W@F

12) When children learn to be aggressive because of exposure to violence in media, what type of learning is being displayed? / STd T Wifsar & 'FEEW

F TS | 3 F HRUT ATHTHS T WEd €, O 75T ueR F1 ftrmw yelRfa glars?
1. Classical learning / FRTRIG S SHTEATH

2. Media learning / FITSAT STRTH

3. Exploratory learning / 3= =T S{fORTH

4. Observational learning / fFAZIYUTES SMfRTH

Correct Answer :-

« Observational learning / faawunes SifRTy

13) Intelligence quotient is / @ afsy %

1. Chronological age/mental age x 100 / AR Sy / BIEIRiC S x 100
2. Chronological age x 100/ Mental age / IRING S x 100 | AAR® 3
3. Mental age x 100/ Chronological age / RS S x 100 / RIS 3
4. Mental age/ Chronological age x 100 / RS 3y / IRING 3 x 100

Correct Answer :-

» Mental age/ Chronological age x 100 / AHRI® Y /R NIEGT 3 x 100

14) Learning happens when the child observes someone. This learning is known as ./ AT a9 Eﬁ’cﬂ % o9 g1 fpdt S a9 aﬁ?ﬂ
HEGEEICUEE S o -0 151 v G

1. Operant conditioning / m SRCINE]
2. Trial and error learning / W-‘aﬁ ST
3. Social learning / AT T

4, Insight learning / \31’3_?_;@ AT

Correct Answer :-

« Social learning / AT T

15) Learners who have an earnest desire for academic competence are said to have a: / FRreqedf =it W!ﬁw%g LEE WW?@% ?, I FEl
ST 8:

1. Performance avoidance orientation/ U&=F EIﬁER G’H@W
2. Performance approach orientation/ Y= e BTEJ,'@WUT
3. Work avoidance orientation/ Wqﬁ%ﬁ E:H@WUT



4. Mastery orientation/ HgIRd B"_‘H'@WT
Correct Answer :-

e Mastery orientation/ HEIRd G:E@WUT

16) Several abilities put together is known as ./ S HaT3il Y Yo [Ty 1@ ST Pgardr gl
1. Intelligence /@
2. Interests / Fﬁﬂzﬁ'

3. Attitude / AT
4. Personality / W

Correct Answer :-

* Intelligence /Tg'@

17) How many sub-stages are there in the sensorimotor stage of cognitive development?/ HT- D farra & Aadinier @R # fHaa Iu-=Rur
g

1. Seven / HId

2. Five /U

3. Six /9

4. Eight / 31T&
Correct Answer :-
o Six/9:

18) Which of the following is not a likely characteristic of a child whose parents are authoritarian? / fafaf@ad I o= TP T HI faaeorar =Y
2, orad wrar-fuan st ard! (@ratfveRae) 82

1. Unfriendly / 3
2. Unsociable/wm

3. Independent / T3

4. Withdrawn / iji’@ﬁ

Correct Answer :-

« Independent / ¥GcH

19) Out-of-school programs allow middle school children to explore safe opportunities to form long-lasting relationships with adults outside their

families through ./ frermera srdwa & 91g wrwfie e & a=i &t F U1 F U URGRT & 18- TURBI & 1Y TS
I T T aTal R 9919 ¥ e QRI3a sraes Y gl aar g

1. pleasure and happiness / e GhT E:Qﬂ

2. hardship and responsibility / 37—%_"”% 3h? W

3. reading and writing for academic excellence / KA S Tl & fow Uedl 3R forgmm
4. independence, peer relationships, and leadership / ESGEGIR WWH 3R ﬁﬂﬁ

Correct Answer :-

« independence, peer relationships, and leadership / T, gewdl Tay 3R ﬁﬂa

20) John is a student who is naturally aware of his personal emotions, feelings and motivation. According to Howard Gardner’s Theory of Multiple
Intelligences, which of the following intelligence does he demonstrate?/ SIT-1 b BTA % St ergeft AfeRmTd ‘HFFIT&ﬁ, Teard R WM A
WIS T I 3TTd 3| §TaS MSR B AR AT T ua seferei™ (uatfis 319 & Risia) & ouR, 98 e & & fewa gigwn
B YeiRid a1 82

1. Interpersonal intelligence/ 3{~cIX Jufads g@'ﬁﬁT

2. Intrapersonal intelligence/ SfaRIufads & i::afb dl




3. Visual-Spatial intelligence/ TRI-TITHD FfGHTT
4. Naturalistic intelligence/ WWW

Correct Answer :-

o Intrapersonal intelligence/ GER'@HW Eﬁ@w

21) What is the purpose of learning according to Humanism? / HIFIddTdIg F SR SIFRATH &7 G%W LUl %?
1. To ace the standardised tests / Ilﬂ?ﬁ@_cf Teror B UhY (Uddh) ETCk ﬁ“l'q

2. To fulfil one’s potential / ot >t emaT 1 o AP %Q

3. To become employable /AT RIS §99 & fam

4. To achieve financial security / fo<ig GRE&T Ut ETCkd 1%113

Correct Answer :-

« To fulfil one’s potential / ot @t errar &Y o Crekd faq

22) What is the name of the disorder characterized by an inability to carry out basic mathematical operations? / Hifere it wfhars o v &
AL FRT UG WM a1 fABR o7 18 |1 32

1. Dyslexia / fexaifRman

2. Dysmorphia/%mﬁq'[

3. Dysgraphia / [ERPIEE

4. Dyscalculia / %MW

Correct Answer :-

« Dyscalculia / %m\?rﬂ

23) What animal was used by Thorndike in his experiment relating to operant conditioning? / ?-lm GIRT ﬁ’_q'lw Gﬂafﬁ T it yarr ®
fop SITTaR 1 T foam T ume

1. Rat/ gl

2. Dog /Pl

3. Cat/ foreed!

4. Pigeon / X

Correct Answer :-

. Cat/fawtt

24) What type of learning did E.L. Thorndike propose? /€. Ud. '\'ﬂvw A {59 yoR & SftrTa &1 uara v@n
1. Operant conditioning / ﬁﬂ:ﬂw GELE?F[ (Gﬂﬁﬁ‘d a%’r&]ﬁﬂ)

2. Vicarious conditioning / Uﬁﬁfﬂa’? \3‘@3 Yq m Eh?‘f&frﬁﬂ)

3. Classical conditioning / RIREG 313@‘547‘[ (WT&IW Estﬁ?!TﬁT[)

4. Effect conditioning / UHTd 3‘@3%]:[ (an_cE Wﬁﬂ)

Correct Answer :-

o Operant conditioning/m Hﬂa?f:f (G{TW AN

25) In language development, the structural organization of a sentence is known as WAL & faer ﬁ, TP di & HITHD IS Bl
& =Y | 9T 141 3 |

1. Phoneme / @FH (m
2. Syntax / ATEATGY (Rica)

3. Pragmatics / HTHD (ﬁ’ﬁﬁm



4. Morpheme / ESIL (qm

Correct Answer :-

. Syntax / ATEATG-ATY (RicaT)

26) Identity versus Role Confusion happens between the ages of / U 9T YfA®T YH 31y Fdg

ol
1. Zero to three / [ T dA
2. Three to six /?‘ﬁ:[@@_&'

3. Six to eleven / @E’QW
4. Twelve to twenty / SRg Idg

Correct Answer :-

. Twelve to twenty / 9Rg Idg

27) Any change that happens due to is considered as learning. /

F SR M I fft off ufvada &Y srftrme wr stTar 21
1. Injury /A
2. Fatigue / YPbTq
3. Maturation / TRU&hdT
4, Practice / YT

Correct Answer :-

o Practice / YT

28) CANCELLED
Nature of children is: / S} D1 m a?ﬁ' %
1. Destructive / @ }'135 Ih

2. Imitative / Epﬁ'q
3. Imaginative / AR

4, Constructive / XIATHD

Correct Answer :-

« Constructive / XIATHD

29) Which of the following is a cue for a teacher to understand the aptitude of the child towards learning? FPafafaa v S« TH Rrerw ¥ forw

HEa & yfa 9= 5t g o GHgE BT TS Hhd 32

1. Students answering questions in class./ DT DET T UY BT IR % Q% %I

2. Student’s assessment records showing the amount of learning achieved. / ST 3ffpa Rl 3% aRT Tt Tl_sr' = &t E'QT% %I
3. Student giving innovative presentation of their work./ BT 30 HTH B1 T TRfa & §

4, Students doing their homework regularly. / &1 raftg =u 3 oA Tﬁa’—lﬁ GeRs Q% %I

Correct Answer :-

« Student giving innovative presentation of their work./ BT 30 B & S Uﬁ% o %l

30) which of the following theorists of child development is not allied to the stimulus response learning theory/ CIG] ﬁm ﬁ? ﬁ'&lﬁl‘@ﬁ

A B 1 RigideRr, SAwA1 ufafsear it Rigid A Ja 781 8:
1. Pavilov/ UTGdIg



2. JB.waston / SI.§. are
3. Gesell / IO
4, Hull /8

Correct Answer :-

. Gesell /A

Topic:- General Hindi (LLGH)

1) SRTHA FATAT
IdT 8 g@ g A

Site # ¥ e it geraht

B Bt -y et AT,
-y Y ¥, e S A,
Fad & Fal I arg o+ dig
elt-# TP For

T B S &ror

BRI AT FAT A

BT g g w

T8 T 3T 8, I § 7 TR,
foram &t dreT g S & e
WYAT BT IRV Saet qqeon B,

T A% ¥ ol ue wa pwn gl

it g gurd wfsa

IHPT G B IoH-

BT 9d AT

Erm g g A
gRaurga wTew 8, e @ vy et

3 T @ R T S 3@ BT 8 |
3T ® 7 uig f¥aT W@ IM R,
w1 g1 o FRe et - o R
Y 7 forem @ S

B q HfasT TRy,

BRI AA FAT A

BT g g E

ITo Ui B UG 19 IR 9 918 U BT IR JaT3¢|
URH: BT & ooad g ®T W ST T 82
1. Ui 9 fove

2. HER Fadi &1 3H1a

3. ST BT 3T

4. TURM 3fciid 1 T1E PR I§T

Correct Answer :-

« O 3fcfid T T1e HRd e
2) BTETHd GATHA

P gE G

Shtee & § e gitral gerah
ofaal sy teft FaHTE,



TG A I, i 7 i,
Faa & pol Y a1g 0 A
yeht-#ft T gort

AT B Sifad &0

BT HA FATHA

g g g AT

T § 93U 8, W & 7 IR,

o &t et ST 8 wRETaT
WY T TROL-a Fad gqen €,

R A%t § fodt v v pwn @1

<t g aurd s

JHBT T R Y-

BT HA FAT A

BT g g H
gRren-ga wTew 8, fxgar § vy &t
AT I 81 R T F g F7 30 7L
9 3 7 91 (O IR oM R,
w1 g1 &) e et - 9 R
it = e yer s

& q Ufas @R,

BT HA FATAA

g g g AT

IUYe TN B UG 12 IR W 978 U BT IR T8¢
U= T g3 it Frem ot fopeap o1 WR?
1. TG-S d

2. Hid-sdd

3. TRE-Aw

4. RIRR-gHd

Correct Answer :-

3) BATHA GATHA

a1 8 g@ g A

Site & § g it gera
Sfal 3t Rrr-viy Seft AuTas;
-y A9 I, it 7 e,
Fad & Fal I arg = qig
elt-# TP For
A1 ¥ Sitfad &or
BT A GATHA

BT g g H

3 T AT &, W T T WA
R €1 et S € wRmmE
TYAT $T IRV Saer FEqen 3,
TR dfeeT & fod uw I pom B
<t @ gurd e
IHST I G-

BHTHd GAT A



g gE g HT

gRren-ga wTew 8, Rxaar 8 vy &t

AT I 81 R T F g F7 30 LK

3@ ¥ 7 9 fRa I\ I R,

w1 g1 &) FRe et - 9 R

it = e yer s

FR G Ufoss avo,

BRI HA FATHA

g gE g AT

IUYe TN B UG 12 IR 9 978 U BT SR TaT5¢|
T B F TR & die & 0 a1 fodt gt 32
1. U Il Id

2. S{TTRI

3. ORI ART SHTHR

4. BT S1EA

Correct Answer :-

« b SHIell I1d

4) T A AT

a1 8 g@ g A

Site & § g it gera
Sfal 3t Ry eft auTas;
TG A9 IE, i T arfa,
Fad & Fal I arg o+ qig
elt-# TP For
T B ST &7or
BT Hd FAT A

BT g g w

I IV 7, T § T G
R €1 et g S € wRmmE
WYAT $T IRV Saer GEqen 2,
TR dfeeT & fod uw I pom B
it & gurd wfsa

SHDT PR Tol -

BT HA FAT AT

e gE g AT

gl wrew &, fewan @ vy &Y
3 T @ R T S g@ 1 Sid |
3T ? 7 uig f¥aT W@ IM R,
1 g1 ol e et -9 e R
Y 7 forem @ 3@

TR M Ry,

BT Hd GAT A

BT g g H

ITI U B UgHR 19 YD W aTat YR BT Sk Fa1s¢|
w: fpelt afd &1 IRe-a oM R frad T fRITA w1 g@ iar 32
1L.9OH

2. dcd



3. 7AE &
4, AR F

Correct Answer :-

o

. dlqd

5) ST A FATAA

a1 8 g9 g A

St & & g it gerat
iyl 9 -y et mrvmas;
-y 9 3T, i TS A,
Fad &l I are = qige
et T gar
T g% SHfa &for
BT A GAT A

ENT g g A

T3 T AT &, W § T WA
a1 €1 SreT S € wRmmE
TYAT T TRV Pad TN L,
wWIRH AR @ PR
<t @ gurd e
IS T PR Y-
BRI HA FATHA

g g g A
gfaer-ga wTew €, g 3 vy et
A5 g E R T & §F BT S A |
3@ ¢ 7 9ie fEa IWSId M |,
w1 g1 ol FRe et ¥ 9 R
Y 7 forem @ S

R Ui aRy,
BT Ad GAT A

BRI g@ g

IUY UL BT UgHR 1 IR 1 a1 U FT SR qag¢
;BRI Weg 59 Hiaar A fra def & wgaa gon 82
1. TR & fog

2. HigwIq ®1a & forg

3. I HId & oy

4. YTHTd & oy

Correct Answer :-

« g & o

6) O AT FATAA

T 8 g@ g W

Sfte= A ¥ & ghrai gera
Sl 3t Ry et auTa;
-Gy 29 I, St 7S T,
Faa & pol Y a1g 1 e
yeht-#f T gort
AT B Sifad &



BT ad AT 7
B gE g A

T T IYT , W § T IR,

e &t et I & R

TYAT BT IRV Sae GO 3,

W Efee # o v Ta pwn f1

<t 8 gurd w3

JHPT B Y-

BT Ud AT A

BRI g@ g

gRuT-ga wrew ¢, femgan @ vy T

AT I A R T F g F1 30 L

3 ® 7 1ig faT W@ M R,

w1 g1 o) FRe et - o UR?

Y =1 forem Y@ S

& q Hfasa @z,

BT ad AT 7

B gE g A

IUYed Ui B Ugeh? 19 YD WH 9Ta U BT SR Tarse|
TR: Rt & Ty 37 faam & a1 7 i [y I et @2
1. TRt @t A

2. Yot arg

3. Tt ot &

4. 3D qF B Y

Correct Answer :-

. IS T DI GAY

7) ST H FATHA

a1 8 g g A

Site & § g it gerat
ofaal sy teft FaHTE;
Ty R ¥, Fa 7 A,
Pad & Eal I aTe o+ aig
et T gar
T 5% S &fo7
BT Hd GATHA

s gE g A

T3 T 3UT §, W § T IR
v 8 st g 3o & =T
WYAT $T IRV Haer GEIqen 3,
& dfse § iyt v 3 poom &1
it @ gt BfsA
JHDBT B Y-

BT 9d AT 7

BN g g HA
gfaer-ga W 8, g 3 vy et
e & W H & g B 3 |
3@ & 71 91e R IR M W,



T g1 S fEan odl I9-99d oI W2

Y = forem Y@ S

& q Hfasa =y,

BRI AT FATHA

B gE g A

ITH Ui B UgHR Y ID WM aTd U BT Sk Ia15¢|
U: 39 Bfaar § 13 A fFad o S aa P a2
1. 319 9T 9HY

2. 99 3§ 9

3. dargenda

4. e gurf

Correct Answer :-

. Pie gunf

8) BT ad G 8
a1 8 g@ g A

Sfte & § g it gerat

ofaal F sy teft FaHTE;
Ty R 3, Fia 7 A,
Pad & pal B q1g a1 diet
et T garT

T 5% SHf &fo7

BT Ud AT A

s gE g a

T} T 3UT §, W § T IR,
forerar € st q ST €Y MR
TYAT BT IRV Sae GIqoon B,

& dfse § 5t v 3 poom &1

it @ gt BfsA

AP B Y-

BT ad AT

BN g g HA
gfaer-ga W 8, g 3 vy et

2 G @ W T S g 7 Sid el
3@ & 77 47e R IR M W,
w1 g1 ol FRe et ¥ 9 R
it = fyem Y@ s

R HfTsa @Ry,

BT Ud AT A

s gE g H

STiE Ui B gga) 12 gD 9 9Td U BT I&R IaTs|
U=: H 31U YABTA B FIT HIP g1 1@ A1MgY?
1L YA IR

2. S H

3. BIE W

4. g B

Correct Answer :-

o Jhg



9) BT HA FATHA
A g@ g

Sftee # ¥ o ghtrat geraht

ofaal 9t fm-iy et mrvmash;
-Gy [9 IS, St 7 T,
Pad P Bal $191g gt Fig|
elt-# T Fort

AT B ST &0

BT HA FATHA

s gE g a

TR T 3G §, W § T TR

Rre &t a1 ST & =TT
TYAT BT IRV Sae TIqon 3,

R A%t § fodt ue wa pwn @1

it @ gurd Bfea

SHPT X T-

BT AT FAT A

BT g g w
gfaur-ga wTew §, g 3 vy et

3 G @ WU S g T &id el
39 8 7 9iq far W@ I w,
w1 g1 &) FRe et - 9 R
it = fyem yer s

R HfIsa @Ry,

BT HA FATHA

e g g AT

ITY U B UgHR 19 IS WM 9T YR HT Ik Ia15¢|
U: %1, IHT & Sifafvaa iR T arast A vgan?
1. 3feRY

2. Hed

3. /b

4. Ui ) TSR

Correct Answer :-

. WS & S

10) BTATHA GATHA

el & gE g A

Sfta & § ¥ gfrat gera-t
Sfaal 3t Rty Seft avras;
-Gy A9 I, St 7 T,
Fad & el B a1g a1 argt
elt-# TP gor
T B S &ror

BT HA AT A

BT g g w

T § T 3T 8, I § T IR,
o &t et g S & e



YT $T IRVI- Fae JIqoon g,

TR dfeeT & fodt uw I pom B

it @ gurd wfsa

IS T R Y-

BT HA FATAA

g gE g AT

gfaer-ga wTew ¢, g @ vy et

3 T @ R T S 3@ 1 8 |

3T ? 7 uig f¥aT W@ IM I,

w1 g1 i R et ¥ o R

Y 7 forem @ S

TR Ui ary,

BT Hd FAT A

BT g g

ITIF U B UgHR -1 YD W aTa YR BT Sk Fa1s¢|
U=H: fed 811 & S1asig Setil 7 T awie @ et I g1 fears A
1. HeAT & BRU

2. A& R

3. 3T BRUT &

4. AU & HRUT

Correct Answer :-

. gAY P BRUT

11) ST AT FATAA
SR gE g

Site & § e it gerat
Sl 3t Ry et auTar;
-Gy 29 I, St 7S T,
Faa & pol 31 a1g 1 A
yeht-# T Fort
AT B Sifad &0
BT HA FATHA

smgE g A

T § 9 3YT 8, W & 7 IR,
e &t et g S 8 T
TYAT BT IRV Sae IO 3,
T A%t ¥ ot v wa pon @1
<t g aurd wfsa

SHPT X II-

BRI Ad FAT A

BT g g E
glen-ga wTew 8, fgar § vy &t
AT I 81 R 99 F g F7 30 7L
39 1 9lq fe IR M W,
w1 g1 &) e et - 9 R
it = e yer s

& q Ufasa arr,

BT HA GAT A



N g g W

ITIF U B UgHR 19 YD W 9T YA BT Sk Fa1s¢|

W: TR A TR IEA1 R AP 79 F 3R F1 ORI W AR
1. 3T’

2. fefa

3. g=h
4.q9

Correct Answer :-

12) ST AT FATAA
SR gE g

Site & § g it gerat

Sl 3t Rer-viy et aumas;
-Gy 29 I, St 7S T,
Faa & pol Y a1g 1 e
yeht-#ft T gort

AT B Sifad &0

BT HA FATAA

smgE g AT

I § 93U 8, W & 7 IR,

v & st g e & R
WY T TROL-a Fad Tqen €,
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A, ga-t srdadt 3R ga yHTaad gt & fF SUEH WHA 4T AIGUTVT, T WITRIHTNT 3R T 3= ST BT WINT [q B TG G5 Ueild gial & | 37 B uTaT
fesa 98, Fae sraRor A /A9 HIoT € STadg B

ITI T B USHR 1 T T YA HT SR T3¢
U=H: {1 | U O AR gt &1 ST SR T g 82

1. IR
2. 3gard

3. fawga
4. Frge

Correct Answer :-

24) faen, war, Hiaa), g, o= iR ToRa F ot SR F wwar sifte sHifasadt 81 SR W1 S YW S Th HITd TeH Tremsi & faa w oft
YT YY T TP & | 5 Tl & 2 & Hawl, Wiiewy, 3R Tfia &) ergya Rif v gt 81 T aifires 71g &t siren ;e 1 i Ria-39 ga wan g,
- 1 H IR AT T ST §; I99T g9 6 9T §; A B A@ 4H At @; il a9 a1d & A T s, T 9 3R i oY @ wva SufRia
Bl ST | SRR BT FWATHY HTYT Tl WA @l 81 59 HTHT &1 f90g Y wad = aran @1 599 A & forg of =reg =81 g8 amror A1 war gor oft
T R, e det g3 it sarer= & i fsur €, 0T Tirar gaim aft T & TR & iR ST 81 7g aul ot firerr & 3imeRor At qgar 9 w9 & Geit g% 21
m%m,ﬁwaﬁ?mw%wwwmaﬁw%ﬁqmﬁlm%ﬁﬂwﬁqwmumwaﬂ%mmﬁmmwmﬁ
ST Bl

= e, | e, 7 far, T wibe, 7 df, 7 ufynlh, 7 3@, 7 <R, 3-am, 3-FwE, 3-aem, fawme sren F SR & W SRoh, guf ger v gen st
2 TS W A IR I 3R U AR ST BT Sl RS A g1 81 399! SufRARY / 7 3R geu 3 Bg gea o §1 deu e @ 9 Y e
STERYT & T FIgdl Bt geraie! I ad &1 A & 1 WU~ IR B FAMGR §Y YOV SUBT JUTT 3Hed T Fg $ 3T+ BT UM B &1 3TER & A4
TH 3ig | T W F A7 HRT 9 § 1 S$rRo1 F ATE-T | I g gaff 3R uddl % & §EU T $31 @A 1 TR & W i A 77 &) T
a1 Sffa T U g 3 1 -1 R W € e §R @ § ) 4 Tee 99y 81 Y 81 9 8 | YW Ul H S HR 3T 81 T A e 81 o verdt Wy ve
1 A-UT9 Be Usar 8| g™, 9, ary, I8, URR, 9T, UTd, 7R, RT 3R 91 96 § TP 3Yayd Yo gfd b I} g1 A &1 WUl SIReTH $1 Hew ga-t
qaAgdl, ga-t srdadt 3R ga yHTaad gt & fF SWE WA 9T AIGUTHT, T WITRIHTNT 3R T 3= ST BT WINT TG B 99 G5 Ueild gial 8 | 37 B uTan
feor €%, Fad SR B AT HTHT § STadE B

SUGH TR Y UG 1Y IS Y U BT S& a4y
v: T, S, wfadn, wftd @ sfe saifasad &2
1. Rigaret e

2. GOlAT-GRId
3. 3{TEIRUT D JAIT
4, IO &1 1T

Correct Answer :-

o 3RO B AT

25) e, o, Sfaal, T, o= iR o & ot 3meRur Bt e e SHfIoHe § 1 3TERUN B I B UTE BIP TH e ST Tremsif & faet w off
ST YT ST HHaT ¢ | 5 FWAT & S/ | ey, e, R it &1 srgya Riafs wre gt 81 w1 eif¥res g &1 wiman ©; fren &1 davr Ra-"m ga wman g,
- &1 H I AT TR ST §; 9991 g9 ) 9T §; A Bt AW 4F et @; gfd a9 ard & Ame T s, 1 9 ok i oY o wva sufRia
T SITaT B | SR BT FRIATHY UTYT TSI WA gl 81 59 UTHT $T f90g 3 Tad = aran @1 399 A & g of 2reg w181 gg amaror Arg wvar gor oft
T, sarear a1 g Wt surerT & e st 8, 0 TIre g off I & R & Wk usT §1 4g qu-l Bt frerd A SR St wwgar /9 w0 A gofl g8 21
m%m,ﬁwaﬁ?mw%wwmmmaﬂw%ﬁqwmélm%%wﬁmmumﬁwﬂiﬁm%aﬁvaﬁmmwmﬁ
Eini|

= o, | e, 7 far, T wibe, 7 df, 7 ufdeh, 7 3@, 7 fRoh, 3-am, 3-FE, -7, fawme sren & SR & W SRol, gaf ger i gen st
?; 39D W & URIE U SR UfaT- 4 AR W BT S0l $XP [ B 81 ST SulRAfd I 71 3R geu @t By ea wid 7 1 dieur IR ¥ e YA i
TR & T FIgdl Bt eraie! A ad 81 9 & | W~ IR FY FAMGR §Y YOV SUB! T 3ed T Fg & 3T+ BT UM B &1 3TER & AT &
T Y A T UR & 37 HRT 91 ¥ SR & 31T | S FihR & Sk udall 9 & §ad T 31 @ § 1 TRV & Wi SRy | U &1 U
a1 Sfta= uTet g @1 - AR g € e 1 O ¥ | @ $Tee Had 81 8% 81 I 81 @ Ul § ST WR 3 31 7 A Fred § | o vt & Wiy v
a1 #ft-uT9 Ee vl 81 g, 9, a1, I, URR, 9TH, UTd, 71, TR} 3R 9199 9 § U Yayd JeX dfd & o=+ 811 v & | HiFReul e #1 wes gaqt
A, ga-t srfadt 3R ga yHTaad gt & fF SWH WHA 9T AIGUTHT, T WITRGHTNT 3R T 3T ST BT WINT [q B 99 G5 Ueild gial & | 37 SIS uTan
foea 8, Fae sraRor A AT HIwT € STad R

ST TR B USHR 1 I T YA HT SR T3¢

W: a0 TR & 9 Y AR R & 5 or A e & o ¥2
1. U e &

2. G I |

3. IREH-UST

4, BTA STeal @ ggEid d

Correct Answer :-



. BT S e @

26) faen, oo, Hfaar, T, o= iR ToRa | ot SR P wwgar e sHifasadt 81 SRR $t AT S UTE S% T HITd e e & fae uw oft
YT YT ST Thel 81 T Tl F oI A Fal, ey, 3R Wit &Y srgyd fifS wre g1t 81 30 aifre wg 81 wiren ; faren &1 Rt Ra-A7 ga wmen @,
- BT {9 I ST TR 916 €; T96T gU &) 1T 8; A9 P A@-1 47 w1l §; i 991 a1 F QA T8 $Ud, 0 9 R T 919 31 exg sufReE
B ITaT 8| TR $ FIGETHT HTHT Tl H4 T8l 81 39 HTHT BT fe0g Y w3 = aran @1 399 e & e of <reg =811 a8 awam=ror A1 war gor oft
T B, eI a1 gon ot aarerH & W fRyur 8, 30T e gam off I & R & MR st 71 g a9 3 e | SmaRvr 3 gugdr 19 U d gl g3 2
m%m,ﬁnaﬁ?mﬂa%mwwwaﬁmm%ﬁqmﬁ%luﬁm%ﬁhﬂwﬁqmmummm%aﬁ?wa?rmmwsmﬁ
EIGIE|

= oratt, =1 e, =1 dter, 7 Wibe, 7 qdf, 7 uf¥elh, 9 I, 7 ofoh, 3-Am, 3-FE, 3-aem, e e $ SR & W9 SRR, gui ger v gen sedt
?; 39 1 A Uga U SR ufrar-of AR S a7 S wRd g 819 €1 399! SufRfa @ 19 iR gou ot g dea wra )| Heur Rl @ a4 safe
JTERVT F BT ATl I geraidt | ad &) o1a &1 AHEa— IR F TR §T T6U TUP! YT 3ed aid B b - B UIF Hd &1 R0 & AT F
TP 3y A o HR F A7 RT o1 &1 3RO & 3MTie-Td A IHGW] g1 gefl 3R Uddl % & ged T B3 TId & | TR0l $ W AR § A & Th
a1 Sfia e BT 31 - fauR W # vwe 819 ava ¥ | 1 $Tes W9hd 81 Y 8 O § | 1 Ul A ot R ST 81 73 A e §| o vandt & 6y v
a1 8- UT9 Be U 8| g, 9, 91, T8, URR, T4, UTd, 7R, R} 3R 910 9@ § TP 3Yayd Yo gfd b a1 g1 A &1 H-Rul SARerH $1 7ew ga-t
eradt, ga-t srfadt 3R ga- wuTaadt gl @ i SUP AT FT ATGUTHT, FT WITTUTIT SR FT (=T SN BT UTHT T Bt q F Yeltd gelt § 1 37 BIg UToT
oo €Y, aw R B AT HTHT € STadia g

ITY T B UgHR 1 I Y YR PT Ik T3¢
W $d TSyl & WY T 491 Be uSar 82

1. WF-uE

2. Qg HI9

3, Tefumg

4. 9= Y1d

Correct Answer :-

. Ty

27) faen, oo, Sfaa, T, o ik Tora | ot SR Ft wwgar aifte sHifasadt 81 SR $t AT S UTH S% T HITd e Iremei & foe ot
U1 WY ST Thel 81 T Tl F o1 A Fal, Aifey, 3R Wit oY srgyd fifs wre g1t 81 I aifre wg 81 wiren ; faren &1 vt Ra-77 ga wmen @,
- BT {9 I ST TR W16 €; T9T gU &) STl 8; A9 P A@-1 47 o1l §; i 991 a1 & QA T8 S, 70 9 R T 919 31 exg sufkea
B ITaT 8| TR $ JIGETHT HTST Tl H4 T8l 81 39 HTHT ST fU0g Y w3 = arar 81 399 A & fore of <reg 1811 a8 awam=ror A1 war gor oft
T B, Srer a1 gon ot aarerH & | fRyur 8, I e gam off I & R & MR st 71 g a9l 3 e # SmaRvr 3 gugdr 19 U F gt g3 2
m,;m,ﬁnﬁ?mmm%mﬂmﬁmﬁm%ﬁﬁm%’lm%ﬁmwﬁmmumﬁwﬁﬁm%aﬁaﬁmmwmﬁ
AT gl

= oratt, = <, 71 dter, 7 Wb, 7 qdf, 7 uf¥eh, 9 I, 7 ofRioh, 3-Am, 3-FE, 3-aem, e e & SR & Wi SRR, gui ger v gen sedt
?; 39 1 A vga U SR ufrar-of AR S a7 S wd g 81 €1 399t SufRf @ 19 iR gou ot Bg dea wra 1 Hevr R @ a4 safe
JTERVT & BT qTeal I geraidt | ad &) o1a &1 AHEa= IR F TR §T T6U TUP! YT 3ed ad B b - B UF Hd &1 R0 & AT F
T Y A T UR & A WRT o1 1 SR & 3(T-Td | STGW] BIhe e SR Udal 9 & §ay T I @ & 1 TRV & Wi SJ1reiH | U™ &1 Uh
a1 St uTe g1 31 -1 R T @ vwe 31 @ ¥ 1 g@ 3T Fugd 81 81 §) 9 81 @ Ul § 99 HR ST 81 A A7 fred §1 $o uerdl & 9 U
a1 8- UT9 Be Usdr 8 | g, 9, 91, T8, URR, 914, UTd, 7R, R} 3R 916 9 § TP 3Yayd Yo gfd b a1 g1 A &1 Rl SARerH $1 7ew ga-t
araet, ga-t srfaedt 3R sa- wuTaad! gl § i SWP AT FT ATGUTHT, TT WITTUTIT 3R FT (=T <N BT UTHT T Bt qG Fo Yeltd gelt § 1 37 HIg Uo7
oo =Y, Paw R B AT HTWT € STadia g

ITY T B UgHR 1 I Y YR HT IR T3¢

U= 39 AT & 3} | T, Aifew, 3R it &1 31w gt 82
1. gy Rifs

2. Yy

3. G A
4. JY A

Correct Answer :-

. gy fifg

28) faen, oo, Hfaa, T, o iR Tora | ot SR F wwgar e sHifasadt §1 SRR AT S UTE S% T HITd TS Iremei & foa v oft
ST YT ST HaT ¢ 1 3 Tl & 331 & Fal, ifeey, SR Tifta #1 srgya Rifs; wrea 2t 31 21 oifres g 2 wiman @; faren 1 vy Ra-Ar ga wman ,
- BT {9 I ST TR 916 €; T9T gU &) ST 8; A9 P A@-1 4H o1l §; I 991 a1 & qia T8 $Ud, 79 79 R T 519 31 exg sufkea
T SITAT 8 | STERUT Bt AT WIS Hel Hi9 T8t 8 1 59 U $T F9vg e 23 U3l aran 2 1 389 A & fog oft wreg =8| 98 aar=ror J1e &t g o
T B, eI a1 gon ot aarerH & WD fRyur 8, I e gam off I & R & WaR vt 31 g a9l 31 e | SR 31 gudr 19 U d gl g5 2
m,%am,ﬁnaﬁ?mmwé?wwwwﬁmm%ﬁqw%'luﬁm%ﬁmmuﬁmmumﬁn@ﬁﬁm%aﬁmﬂﬁmmwmﬁ
ST gl

A @1a, 7 e, 7 dren, 7 9be, 7 udf, 7 ufdh, 7 3@, 7 <féoh, -7, 3-F=mE, 3-aeE, fawna snen & smerur & WA Foft, guiKr wer wwia gan edr
?; 39S 1 A vga U SR ufrar-of AR S &7 S wd fIRgd 81 €1 399t SufRf A 19 iR geg ot Bg dea wra 1 evr Rl @ a4 safd
JTERVT & BT ATl 1 geraidt | ad &) ora &1 AHEa= IR F TR §C T6U TUP! T 3cd 9 B b S B UF Hd &1 R0 & AT F
T Y A T WX S 37 WRT o1 ¥ | SR & 3(-Td | SVGW] BIhe e 3R Udal 9 & §ey T B @ &1 TRV & Wi I8y | U &1 Th
a1 St wTe giaT 31 -1 R T ) vee g1 @ ¥ 1 g P16 Tugd 81 81 §) 9 81 @ Ul A 9 HR ST 81 7 A7 e §1 $ uerdl & 9y U
a1 8- UT9 Be v 8| g, O, a1, T8, URR, 914, UTd, 7R, ) 3R 910 9 § TP 3Yayd Yo gfd b a7 g1 a0 &1 Rl sIRerH $1 7ew ga-t



qaqdl, ga-t srfadt 3R ga yuTaad gt & fF SWH WHA T AIGUTIT, T WITRIHTNT 3R T 3T 3T BT WINT W &) TG G5 Ueild gial & | 37 B uTan
oo 1Y, Faw meRur B /i YT ST B

ITE T B UgHR 1A T 7T Y= BT IR qargtl
W= HIF SIS BT WHTT 4T gell 82

1. GHRIHD

2. FeRerlt

3. THRIAD

4. YT

Correct Answer :-

29) faen, o, Sfaal, T, o= iR o | ot 3mERr Bt e e SHfIoH § 1 3TERUN B T B UTE HIP TH ST ST Tremsif & faet w off
SUT YT ST Thel 81 5T T F o1 A Fall, ey, 3R Wita #F srgyd RfS v g1t 21 30 aiftres 9g 71 wiren ; faen &1 vt Ra-A7 ga s g,
FRr-war &1 H IR AT TR ST §; 9991 g9 ) 9T §; A Bt A@ 4F et §; gfd a9 ad & "me T s, T 9 3R i oY o wva sufRea
T SITaT B | SR BT FRIATHY UTYT Tl T gl 81 39 UTHT BT f90g 3 wad o= aran @1 399 " & g of wreg =€ g8 areror Arg war gor oft
W R, Srer 31 gan Wt srrer & i fyur €, T e ge oft I & TR & iR usT 81 g a9 @Y frery A meRor Y gar Wi U & gt g2 21
m%m,ﬁwaﬁ?mw%?wwmmmaﬁw%ﬁqmﬂ%lm%%wﬁmmumﬁnﬂﬁm%aﬁvwﬁmmwmﬁ
Eici|

= o, | e, 7 fan, T wibe, 7 qdf, 7 ufdnh, 7 3@, 7 fRoh, 3-am, 3-FwE, 3-aem, fawme sren & SR & WA Sol, gui ger v gen st
?; 39D W I URIE U SR IfaT-u AR T BT S0l $RP [ g 81 ST SulRAfd I 71 3R geu @t By 9ea wid @ 1 dieur TR ¥ o YA aafd
TR & T FIgdl Bt eraie! A e 81 9 & 1 W= IR By FAMGR §Y YOV SUBT T 3ed T Fg & 3T+ BT UM B &1 3TER & AT
T 31 | A W F A7 HRT 9 §1 SRl F HTHE-T | IHIGH] FIHR gaff 3R uddl % & g3 T $31 @4 ¢ | TR & W Arei= d 79 &1 T
a1 Sfta= uTet g @1 - AR a4 € e 1 O ¥ | @ $Tee HaHd 81 8% 81 I 81 R U § St WR 3 31 7 A Frend § | o verdt & Wiy v
a1 #ft-uT9 Ee vl 1 U, 99, a1, I, URR, 9T, UTd, 71, TR} 3R 9199 9% § U Yayd Je¥ dfd & o= 811 v & | HiFReut e #1 wew gaqt
A, ga-t srfadt 3R gai yuTaad gt & fF SWH WHA T AIGUTVT, T WITRGHTNT 3R T 3T 3T BT WINT W &) 99 g5 Ueild gial & | 37 SIS uTan
fosa 8, Fae SraRur B AT HIwT € STadg R

IT T B UgHR 1A T 7T Y= BT IR qargtl
UR: ITERVT B FaT & A1 971 & g ot Fam w1g @2
1. 9f
2. o
3.99

4, g

Correct Answer :-

30) faem, Fa, HiAaT, TR, 4= 3R Iorg | +ft SR HY Ty SAfire Hifasad 81 TR B FWAT B T HIP TP HITA 3TeHT o &t w o
ST YT ST HHAT ¢ | 30 FWAT & S | e, g, R Tifta &1 srgya Raf wre gt 81 w1 sif¥res 7 &1 wiman ©; faren &1 drav Ra-A ga wman g,
-1 &1 99 IR AT T SA1GT 8; T96T g 81 A1dT 8; AP P a@- >¥ o1dl 8; gfd 991 ard F A 78 Buid, T8 9949 3R T Bfa %1 exg Iufk@
B ST | SITERT Bt [T WIS T 79 T8t 8 | 59 W BT Feavg Y 4 U3l aren 8 1 58 A & g oft wreg =8| 98 qaam=ror J1e &=ar gam o
A 8, SIerE a1 gon ot e ¥ WD fRyur 8, I e g o I & R & WiaR usT §1 g a9l 31 ST § SmeRvr 3 §udr 19 U gl 55 o
m%m,awsﬁ?mw%wwwmﬁw%ﬁhm%’lm%%wﬁmmumﬁwﬂﬁm%aﬁvwﬁmmwmﬁ
Eicikd|

A ra, | e, 7 e, T wibe, 7 g, 7 ufdnft, 7 3@, 7 fRof, 3-am, 3-FwE, 3-aem, faRme sren & SR & WA Svl, gai ger yaid gen st
T; 3% W T UG U9 3R ufaTar- o AR ST a1 Heurn 3 [Ogd gid 8 | 3P SUTRITY & 7 3R gqU B Hd 950 9T €1 «teur IRt ¥ wid YA afe
TR & T FIgal Bt eraie! A et 81 9 & 1 W= IR FY FAMGR §Y YOV SUDT T 3ed I Fg & 3T+ BT UM B &1 TR & AT F
T Y A TF UR & 347 N7 o1 | SR F 3(Tg-Ted | S BIpe e 3R udal 9% & gay T F31 @ 8| 3TERY & HiH TSl | 7S &1 TP
a1 Sfia et g 31 - R i @ v 819 @ ¥ ) g1 ores w9gd € Y ) 919 1 @ Ul A o R ST 31 7 A e §1 o uendt & WY U
a1 #ft-uT9 Ee usdar 1 gy, 9id, I, I, URR, 9T, UTd, 7R, R} 3R 9199 9% § U 1Yayd ¥ dfd & o=l 811 v & | HiFReul aren #1 wew gaqt
qaqdl, ga-t srfadt 3R ga yuTaad gt § fF SWH WHA T AIGUTIT, FT WITRIHTNT 3R T 3T 3T B YT [ &) TG I3 Ueild giel & | 37 SIS uTan
for 98, Faa mERr B /T UTwT € ST B

UG T B} UGS A1 YD Y WA BT S@ IaA1gy
U TR B [T & e &1 7 ga e 32

1. SR

2. JToHRt

3. e R

4. O oiig

Correct Answer :-

. R REA=



Topic:- General Sanskrit(L2GS)

1)

UTde UTScar ueasy ﬂf&djrdi qIad -

Ca: ApuT: el I | Focdlued Yol eier Sehsol Algarcieds
oAl 1 AGUET SI: HIAT SolIH: qg&qw Ucgr:  Jfguar:

gF: s el Aipsild THAT Iaeid| HHSURT Aldel: Ha: HIAT
T qdulelddl  gse: & agﬁé‘r 3Rt &'han‘wmﬁmuddl o
AP god ARMAIAI  Hed T: THAURLHA AReddd] el
aﬁmmm‘f HUH AT ol G A SUTIH IHhllcl|  FHETHICTH, 31
QICIEEIGEEIIE T crri%ﬂﬂ?rl 3pY: Gl ANPSUBIFT: | HEET HUCI G
CESCS ) GfFITT‘Er T Wed HAegIde: HPT: TSl P
IR |

3pY: APURT FHIT ITcdldedd - & FOUT | T HARIH OS] | 9
Aldel: Hd: GIARMAH  8dedl APIEeRAEETIN T | Ao
FUCg AT MFSUETRTH TET Jeals HAAH]
fafedgedioan: afUer: T FAETTS | dr: AHSUH Ta# 3dcs] - T8l
FOUT | & H AT TS | $89 TS5 | 3ol 3R 3T Fq2d a1 3fa
| ApSUlsded - JIA AT 6dd | TIRRNOT e |

oh: IMepel I ?




IRTIE IfScdT URAET YGHcR Jaad -

cd: ARSUT: IMehel IR | FAeeNITT Yoeod! FAeT AFSoT ATGaTcieds
Tvafd T AP SIS: AT FeRE: dHcaed Uoedn: AU
q:| Asfa aMhel Apsold TAAT 3aed| APSURT AT hd: HAIAT
Tl?ér ml E,;Q,‘: H: a_g_;’ﬁ?j' 393 &ﬁEIEWUT mﬁj—gr URIdd | LI{o'(jID
AepsoT Srgl; ARMEAId|  3fed 4 ThAITIH e dId]| uoluﬁdmumiﬁ
APSUTRTHA AAIHA AT Tt gedA IUIH | FETHCTH, 37pl
draredrd IMehel UMEUNC|  3FpY: HEled APSUBIFT:|  HEEd HUCI G
gehdl T SEAfd T Wed HeAederide: Il TSR JEhcd
INpAHITTO |

3pY: APSURY FAIT ITcdlaced - § POOT | o7ale], HRIH 3PS | dd
AdS: hE: GTAENSH  oded]  AMFOERIAEETIN T | AT
FUCE SATAedrad MPSUEeRTH TET Jealas HAAH]

fafedgcdiedr: MUAT: T FARTESH | dT: AHSUIH TGH 37dcs] - T8
PSUT | d HAI AT TS | 369 (A5 | 3iege A 3T 7 a7 5fa
| ApSUlsded - JIA AT $ad | TIRRNT e |

Tl oI HT AT IS’ 3fq FT: 379 ?

, AET



eellenl gfcar srenfaféseed ueaed gHc Faad -

TG HORTUT FHgfd HHAG |
cliehTecToT T & fg faairaesid ||
THRIINGETET &g Td HLY e |

gﬂﬁﬁﬂwﬂﬁwméﬁm: I

FAY el 37 3¢ TIT |

eelioht gfocar JNfATCTeTT eaed YGHR Fadd -
&IUT 8180 edled Shoolel O TG |

ATEL $TeRICe ST areell Ua ||

hifehellell TaRY &G TAOT ®9 gfdade |

facam ®9 HEATOT &7AT T JUETAA ||

TEI 3AIH 3UH: |

Pa

U o q



Correct Answer :-

5)

UTdE UTSar u2I&d ﬂaqagcdi CERGIE

a: AHSur: INehel IR | Ao ued Ycall ARMer AFsol AlJarcied
vafd T AIPTURT SASS: AT ToRA: qHedEd Yoo UfgUdT:

qF:1 s bl Apsold TAAT 3Tl AP AlJel: Ha: HAIAT
Tsd gdurerdd|  gse: &: Sgiad: 3urk: Aigwl ARG 9Hddl  Wed
AFOT god ARMGFAC|  Hed T VAU HAeddd|  defdEredrsid
APSUTTRTA FHUH IART Tl Goddl, 3UH IR FEHACTH 3R
dICIIECIIg:I; dl‘lgnei UIfRUN|  31Y: HEll AMFSUEd: | HEE a:qaﬁ;
asgehdl T SEd T Wod  Jeleddlide: 3T TSR JEhcd
THAHITTS |

3pY: APSURY FAIY ITcdIaadd - & POOT | 87ale], HRIHA AETS] | dd
Aldel: HE: UFAENH  ded]  MPOTRIAEETIN T | AJAed
chchﬂ'ﬁ' SAefediaid AHSOTerTHl TE I EdeTd FTHAAH|

fafedgediean: aNUer: T FANTS] | dT: AHSUH TaH 3Hacs] - Tal
FSOT | od HI AT TS | $6d A | 3iege A 0 #7779 5fa
| Apsullsded - JIA 3T T | TIRRNOT e |

AP ATA: F: ?



ooliehl afScar JTNfATEsesT Ut Ygace A -

&4l 18T &aled shoolol O TG |
ATEL $T8Tcoa ST areel UaT ||
hIfehelladl T T THOM 7 gfdad |
facam ®9 FEITOM &7AT T JUTET1 ||
31T Dlfchel®d TUH |

. Hel:
$¢.ia:

2.

3 Q:EIQ:
guT:

4,

Correct Answer

BESCLE



IRTIE IfScdT URAET YGHcR Jaad -

cd: ARSUT: IMehel IR | FAeeNITT Yoeod! FAeT AFSoT ATGaTcieds
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Topic:- Science (SCI)

1) Why are large poultry farms constructed? /
T3 Fape B &1 Fufor i farar wrar 82
1. To raise broilers for chicken meat in large numbers. /
o it 3 for aifiies e & SR 1 U 2
2. All the above facts . /
IR i 7
3. To develop very good hatchery for egg layers, in large numbers. /
TS T@ H 3T ¢ & T I8k RIF &1 faHhr - & o |
4. There is low maintenance requirement for developing poultry. /
Papeura & [db & T e TR B SHTaRaHd1 5g)|
Correct Answer :-

« All the above facts . /

IRIgd I+t g

2) If the ratio between Iron (Fe) and Sulphur (S) in Iron sulphide (FeS) is 7:4 by mass and the total mass of it is 88 amu, what are the masses of
Feand S? /

Tfe IR HEBTSS (FeS) B TR (Fe) R AR (S) F d19 FHH BT JUTd 7:4 § 3R SHBT $d A 88 WA Hgfd ATAD
(amu)%,?ﬁFeﬁS%WW??

1.Fe = 74amu & S =14 amu
2.Fe =72amu & S =16 amu
3. Fe = 56amu & S =32 amu

4. Fe = 50amu & S = 38 amu

Correct Answer :-

e Fe=56amu & S =32amu

3) Written examinationisa/an ______ of evaluation. / ﬁl@ﬁ qﬁ&ﬁ, 11?-113’_'{ &t T %I
1. implementation / Prafaa

2. System BRI

3. function / Eh—fg[

4, technique IS CEica

Correct Answer :-

o technique / GERiCd



4) To have a productive and engaging science learning experience, for children and adults alike, they can conduct small
experiments with guided instructions, like identifying rock specimens, watch insect metamorphosis, demonstrate chemistry

reactions, etc. This method involves?/a?cl.’f\?vﬁ?'wa?ﬁlt{, Th IUlgh Gﬁ?mﬁﬁﬂﬂf\mﬂéﬂ‘lﬁﬁﬁ%
forg, 3 FRa A= & A1y B YA &1 W1 HR TP 8, S AP Y| Pt Uga HI, Bie
PR @1, I ifufspars & welkia &<, enfe 1 5w faftr & =nfora gar @2

1. Science Kits / fai fabe

2. Research Laboratory Experiments / WWWW
3. Observatories / aﬂmﬂﬁ

4. Peer-to-Peer Teaching / Hg&HHI-Y-TghH! fRI&UT

Correct Answer :-

. Science Kits / ﬁ?‘l’ﬂﬁv_d

5) In the winter season, two thin blankets placed one over the other are better than a single blanket of same thickness because: /
& & Hiew ¥, 3§ 7q0 $I0 TP gIR P SHUR 7@ S 3, Sifp It Aiers ardl U Haa @ Iga¥ 1d 8 Fifp:
1. The air in between the two layers will absorb more heat energy from the atmosphere /
3 IRl P o9 B gaT AGHSA F MU ST ol I AN PN |
2. The air in between the two layer acts as a conductor /
3 IR & o9 P 591 TP Ga6H b U H S bl o
3. The air in between the two layers acts as an insulator /
IR & ot &) a1 T IS BT B FHA 3

4. Thick blanket absorbs more heat energy from our body /

e Hhad gAR IRR F AP 91U SHolf BT it HRa g

Correct Answer :-

« The air in between the two layers acts as an insulator /

TRl & S D1 591 T faddTgd ol HTH Bl g

6) What happens when a body covers 2m in every one second along a circular path? /

e U P, TR U4 IR Yd® Abs ¥ 2 Hiex 3t gl qu Fxar & A | gl 82
1. The body has non-uniform speed. /ﬁm?ﬁmﬁ?ﬂﬂﬁ%l

2. The body has uniform velocity. /Wﬁaﬂw%l

3. The motion is called non-uniform circular motion. /nﬁﬁﬁ?ﬂnﬁmwﬁww%
4. The motion is called uniform circular motion. /Wﬁaﬁwmﬁmmél
Correct Answer :-

« The motion is called uniform circular motion. /Wﬁﬁwmiﬁwwél
7) The physical quantity which has the unit N/m?2 is: /

WWWW@ N/m2 @I & :

1. Force / dd

2. Density / Y-

3. Acceleration / d¥UT

4, Pressure / GdId

Correct Answer :-

o Pressure / qdld



8) Sign langue is developed for: /

Hibfae T f 4§ feas g e fa 1 8:

1. The mentally retarded children /WW@WW%W
2. The people with impaired hearing/ﬂ’@'

3. The children with high IQ/W@@WG@W%%M

4, The blind people / 3

Correct Answer :-

« The people with impaired hearing/w

9) lodine test is conducted for detecting: / M qﬁ&ful [EZ:CaR GIGUIEK 2 ﬁﬂ! f&ar wirar %:
1. Starch / ®TE

2. Sugar / B

3. Protein / e

4. Glucose / W\_ﬂ

Correct Answer :-

« Starch /@R

10) What are the two necessary conditions to be satisfied to say that work is done? /

g Hg & fog 7 ol Wum 81 gt 2, < imazas 21d . 72

1. Initially the body should be at rest and there should be an expenditure of energy. /
SRy H T B fasmaraR & g1 A1feT o It &1 =3 g1 A

2. There should be a force acting on the body and there should be a displacement in the direction of the body. /
T TR 50 SRR g1 =1feT SR o @t famm & fawio g =T

3. There should be a displacement for the body and there should be an expenditure of energy. /
T &1 forT BT =1fe T SR it &1 = g =inf

4. A force should act on the body and there should be an expenditure of energy. /
Teh 9 b1 TR TR BIHT1 =Y TR Hroft 1 og g1 A1fe |

Correct Answer :-

« There should be a force acting on the body and there should be a displacement in the direction of the body. /

T R 90 SRR B A8 T 3R o &t femm § fawumg= g =nfeul

11) An electrical device is rated 1000W. What is the amount of energy consumed by it in 5 hours? /

T faggd IUSHR1 BT geaid=T 1000w f5aT ST 81 5 6el & @ud $1 78 et 3t Arr wn grit
1.1.8x 107

2.1.8x10%)

3.1.8x10°)

4.1.8x10°)

Correct Answer :-

. 1.8x107)

12) |n a lake, Maria swims 60m in half minute and returns to the starting point along the same path in another half minute. Find her average
speed and average velocity./



TP 3l |, 7 e fime d 60 Hiew aRdt 3 iR o 3 fiee ¥ SRt art 9 smiftes faig wR die ol 81 Suet sitvrd i ik
3T T 91 B

1.2m/s & 0 m/s /2 Hex/Ads 3R 0 Hiex/Ads

2.2m/s & 12 m/s / 2 Hiex/AHS 3R / 2 Hex/Adhs
3.0m/s& 2m/s / O Hey/AHE oiR 2 fiex/Adhe
4.12m/s & 2 m/s / 12 Hiex/Ade 3R 2 Hiex/Adbs

Correct Answer :-

« 2m/s & 0 m/s /2 Hex/Ads 3R 0 Hie/Abs

13) The period of a pendulum at a place depends on the: /
ot = R U Ugaw o1 srafy 9w AR wedt @:
1. Mass and length of the pendulum /
UgaH 1 SHH 3R daTg
2. Mass and acceleration due to gravity at that place /
I WM R BT & RN GTA 3R @R0T
3. Length of the pendulum and acceleration due to gravity at that place /
I WM R @GV & HRU G R <R &t Ta1s
4. Length of the pendulum and shape of the bob /
g &) Taré IR aT9 B AHR
Correct Answer :-

« Length of the pendulum and acceleration due to gravity at that place /

T WM R HalbYUl & HRU G5 3R @R Bl Tars

14) Which of the following is not an example for the potential energy? /

Frafafea ¥ @ v fRufos o o1t Ieerur 8 32

1. Energy possessed by a body inside a flying air craft. /WU@%WW% WWWWWWI
2. Energy possessed by a body placed at a height. /WWW@WWWWI

3. Energy possessed by a compressed spring. /W\t’rdﬁ%aam'—ﬁmwml

4, Energy possessed by a person lying on the ground. /S TR %@WWWWWI

Correct Answer :-

« Energy possessed by a person lying on the ground. /WW@%E‘IWW@TWW Sl

15) In which of the following media, the speed of sound is maximum? /
FrafafEa & S foa aram 8, wfy ot afa siftean aid 32

1. Water / Sicf

2. Aluminium /Q?Il:ﬂﬁ'm:[

3. Air / dIg

4. Oxygen / SeRffe

Correct Answer :-

« Aluminium / TegHiAgd

16) Muddy water can be purified by /
P d o P 3HP §RT Y a1 o Tpar 8

1. Loading / <Gl



2. Threshing / IIETs‘
3. Sieving / T
4. Winnowing / St

Correct Answer :-

» Loading / ¢l

17) In the case of semiconductors, as the temperature increases, the resistivity ./

SrefaTe® & ATHA A, S-S dI9AT gaT 8, UfeRiyear |
1. increases / aa%ﬁ %

2. decreases / FH BIT §

3. becomes zero / [ Eﬁ STl %

4. remains constant / TR T{a‘?ﬁ %

Correct Answer :-

« decreases / PH ﬁﬁT %

18) Select the correct statement from the following: /

Frafafea # & w8 3= o1 997 =

1. Unlike charges attract / faudid simaw s fd Hia %I

2. Unlike charges repel / famdia s o itfa #va §1

3. Like charges attract / ¥H MY &Wﬁﬁw%l

4. Charges on a body cannot be discharged / T d¥g R IufRT 3mawl 1 ﬁé_EFT qﬁm ST Hohdl %I

Correct Answer :-

« Unlike charges attract / faudid simaw sefd Ha %I

19) A screw gauge with nil zero correction gives the following reading when used to measure the diameter of a wire. Pitch scale reading = 0
mm and head scale reading = 52 divisions. Given that Imm on main scale corresponds to 100 divisions of the head scale. The diameter of
wire from the above data is: /

YA GYR FT TP T A9 TP dR & A9 S W0 F e 3uahn & ard v R Fafafaa fdw 3ar 21 o e §fEr - o findt ok
?S U AT = 52 T3 | feam man B 7% gar arus &1 1 fnft, 85 91us & 100 WSI F 30 81 ST ST A IR HT A &:

1.0.0052 cm / 0.0052 I
2.0.052 cm / 0.052 T4t
3.0.26 cm / 0.26 IHt
4.0.52 cm /0.52 94t

Correct Answer :-

« 0.052 cm/ 0.052 It

20) Identify the acid present in red ants? /
T Sifeal # IUFRT 3T B Uga B2
1. Malic acid. / FioIS® 37

2. Oxalic acid. / wa 3RT

3. Tannic acid. / S 3

4. Formic acid. / TPIHa® 3%

Correct Answer :-

« Formic acid. / BIH® 3



21) Identify the reaction/s in which physical state of a substance does not change during a chemical change. /

3 ifHforar w1 vgar, R el Trmafe ufkad = & R it uard o +ifae fRufy 78 aaardt 21
1. All of these / Sudad Tt
2. Water is subjected to electrolysis to form hydrogen and oxygen /
BZSIH 3R SHTaiier s & fore urt &1 fagya-sroee fear srar g
3. Mercuric oxide is heated strongly to from mercury metal and oxygen /
TRT ¢1g 3R TR T & o IR HTa1gs & yaadr 3 T a1 S g

4. Magnesium ribbon is burnt in air to form magnesium oxide /

IRy sifarse oM & fore ARy e ) ga1 & STomr Jrd &

Correct Answer :-

» Magnesium ribbon is burnt in air to form magnesium oxide /

TR faaEs s F & forg ARy e o) gar § sar ST

22) The frequency of vibration of a string is 100 Hz. Then its period of vibration is: /

TP TR S S 1 3MgRY 100 T B 1 T U P @i :
1.0.1s/0.1 Ybg

2.0.01s/0.01 Yhs

3.10s /10 9bS

4.100s / 100 YbS

Correct Answer :-

. 0.01s/0.01 YHS

23) The trophic level of secondary carnivores is /

gifaas AiAER BT Uiy W@ @
1. Third / TRERT

2. Second / q¥RT

3. Fourth / AT

4. Fifth / gi=rat

Correct Answer :-

« Fourth /T

24) The pressure excreted by the liquid at the bottom of a vessel depends on : /

TP 99 P a6 W ave gRT AT 7497 819 39 0R Frk avan @:

1. Total area of the base of the vessel / §ci- & dd BT D REpRC]

2. Height of the liquid column present in the vessel / 9§ U R WY HT I=aH ad |
3. Inner surface area of the vessel containing liquid / dXeT god I BT SHTARD g &=

4, Shape of the vessel | §9 BT BRI

Correct Answer :-

« Height of the liquid column present in the vessel / A § IR R WY T I=qH ad |

25) Neutral compound/compounds among the following: /

1 ¥ Serit= 9iffe / Aiffret 3t uga™ Fif:



(i) €O, (ii) CO (iii) H,O (iv) CaO
1. (i) and (ii) / (i) 3R (i)

2. (i) and (iii) / (if) 3R (i)

3. (ii) only / B9 (if)

4. (i), (if) and (iv) / (i), (ii) 3R (iv)
Correct Answer :-

« (ii) and (iif) / (ii) 3R (i)

26) Four identical vessels painted with four different colors are filled with water at 90°C. Which of the vessel will have the least rate of
cooling? /

IR AT U TR 3@ F A ) g § 3R 90° AfRTET aqw= & uri F WX g9 €1 f5 g urar & <hiaa 811 3t R Frgaw anfe
1. Vessel painted with red / ATl 37 I g3l U

2. Vessel painted with green / @T’Ta T"IT_§'31T a=

3. Vessel painted with black / CaGEURSEal BT UA

4. Vessel painted with white / GETEURSEU SSIRIED

Correct Answer :-

« Vessel painted with white / Jthg 31 ¥ I gAHTUEA

27) Which among the following is a monobasic acid? /
Fraffea & & 71 ve A o @2

1. C,H40,

2. H,CO;y

3. H3PO,

4. H3PO;

Correct Answer :-
. C2H402

28) Which one of the following is not an alloy of Iron? /
fFrafafea & & o e &1 v frgurg 7@t 2

1. Solder. / HITER

2. Stainless steel. / AT Wi

3. Alnico. / BfeTah!
4. Nichrome. / Rgra

Correct Answer :-

« Solder. / TIcER

29) Which of the statements about non biodegradable wastes is correct?

i. They are commonly man made.

ii. They can be degraded by micro organisms.

iii. The soluble non bio degradable wastes enter food chains and cause bio magnification.
iv. They do not accumulate in nature. /

SorafrEieRoita Sufde & ik & 19 A FY= TE §?

1. ATHTIE: A4 A g #

ii. ¥ &1 ohal g1 Feftepd i o awa €1

iii g srcraf ezt sy W gaar & wawr #d § ok 99 smad= wva §1



iv. d Upfd & Hfua =81 gid |
Liandiii /i 3R jii
2.iandii /i 3R i

3. iii and iv / iii 3R iv

4.iiand iv /i 3R iv

Correct Answer :-

« iandiii /i 3R iii

30) Which of the following elements show malleability? /

Frafafea & & oH-a1 7@ smaraad-iaar fearar 32
1. Phosphorous / BHRBRY

2. lodine / 3G

3. Sulphur / Heth]

4. Zinc / TSidh

Correct Answer :-

. Zinc/Si®

31) World Environment Day is celebrated on? / ﬁ%’ TgfaRor feaw &9 wamT GI'IT‘IT%?
1.May5/5 Il'ﬁc

2.June 5 /59

3. September 15 / 15 IEGER

4. April 27 / 27 3@

Correct Answer :-

« June 5 /591

32) Which physical property of Aluminium metal makes it possible for us to make Aluminium foils to wrap chocolates,
toffees and medicinal tablets? /

E?!Itfl?aﬁl;wtlrg'%?ﬁ»-amwﬁ%wanawmm,mmmmﬁﬁﬁamqﬁﬁmﬁm%ﬁw
PR UM §?

1. Malleability. / STaTdae=adm

2. Good electrical conduction. / faggd ! gareddl
3. Good thermal conduction. / &SHT &1 gareidbdl

4. Ductility. / @=dl

Correct Answer :-

. Malleability. / SfTaTdasi-aar

33) Which of the following statements represents the science manipulative skills of a student? / fafafada s

FYT UH B & g & Uea-ig sIvra @-igafed f&ra) o1 ufafifta svar g2

1. The student can differentiate between two related concepts. / ST 3 Eld GRS o S 3R B Tl %I
2. The student can design a new experiment. / &1 Udh T TN f&S18H &R Tl %I

3. The student respects his/her science teachers. / ST 3 ﬁ?‘ﬂ:f ﬁT&‘Iﬁ D HHTH hdl %I

4. The student uses the equipment in the lab within their limitations. / ST 3Ot T3 & B TARTITAT & IUBRUT ST IYTIT BT g



Correct Answer :-

. The student uses the equipment in the lab within their limitations. / ST 3ot TATHT F TH TN F IUDHRUT BT IUTIT BT 8l

34) Qut of the following options, choose the incorrect statement? / ﬁ'ﬁﬁl@ﬂ' faweu o ﬁ, AT PYA PT ddq WI
1. Inductive method of teaching is a constructivist model of teaching. / f?f&‘l'UT &I NTHA ﬁﬁ[, fQT&‘I'UT D UD IJA[HD Arsd %I
2. Inductive method of teaching is more student-oriented. / ﬁT&‘l'UT &I M fafdr sifdrep BA-3H9 %I

3. Discovery learning theory promotes autonomy in learner. / ST 3T ﬁl&"i?‘f, TSl H TaraIdT & deldl < %I

4. Deductive method of teaching progresses from a specific concept to the general. / fRreror &t ﬁfﬁ, Wﬁ'&l}q SEYRON
JET B 3R Tl gl

Correct Answer :-

. Deductive method of teaching progresses from a specific concept to the general. / fRrefor &t fAam= fafY, we fafRry sraumon T
T Bt 3R IG5 g

35) Write the given four colours in the ascending order of their wave length?
Yellow, Red, Green And Violet /

T g AR T F1 I A F STAR RIS v A ford?

1. Violet, Green, Yellow, Red /a;"Fﬁ, BN, tﬁ?ﬂ NI

2. Yellow, Red, Violet, Green /tﬁ?lT, drd, a'TF-ﬂ, Xl

3. Green, Yellow, Red, Violet / &XI, tﬁ?ﬂ, ord, ST

4, Violet , Yellow, Red, Green / ST, e, oTe, 891

Correct Answer :-

« Violet, Green, Yellow, Red /a.TF‘ﬂ, B, tﬁaT, NI

36) The SI unit of power of a lens is: /
TP A P! MR B TH.30TE. TS @

1. Watt /dIc

2. Dioptre / STATER

3. Joule/second / JARHS

4. Joule / @

Correct Answer :-

« Dioptre /W
37) What are the food requirements of dairy animals? / %ui’ru*gaﬁ% Hie P STagH g HTE?
1. Mixed feed containing dry grass, grams and other roughages. /
T I, T SR S Hie IR § Wi o Wi
2. Nutritious feed with additives. /
gt & T H UIfd e i |
3. Fresh green grass. /
GISIRIRCIT
4, The feed should include roughages and concentrates in balanced amounts. /

i & HieT IRT IR 81 <feT SR Hgferd 7 # Hig g1 =1fe |

Correct Answer :-



« The feed should include roughages and concentrates in balanced amounts. /

Hieg # HieT IRT JUFRYd BT 1T SR Tgferd w1 # |ig g1 a1l

38) The intensity of the sound is related to:/
eaf it droar g9 wafta §:

1. Amplitude / TATH

2. Frequency / &ﬂ'qﬁf

3. Pitch / U=

4. Wavelength / a3 %‘iﬁ

Correct Answer :-

o Amplitude / 3TTH

39) For which liquid/fluid in the body are the below mentioned features applicable?
« Cellular processes take place in this medium.

« Substances are transported from one part of the body to another in the dissolved form.
TR ¥ 53 ga/ava verd & R T sfewfea faiwang @ 8 82

. 39 ATes ¥ SR uheang g ¥

. verd & e o A IRR F ve R I g URT § ugaman s 2|

1. Blood / Xad

2. Water / Sidd

3. Sugar solution / =+ &1 Ui

4. Salt solution / &dUl BT o

Correct Answer :-

« Water / SId

40) Rishi is open-minded but believes every theory put forward to him by his friends but rejects theories of his teachers. This primarily

shows a lack of: / ¥ Ga- oY aren @ AfhT 95 SUF Il §RT SUS TH ¥ 7¥ Rigid &) u-ar 8 Afe oA el &
Rl P RANPR AT T A TUA__ 1 S & gxiiar 81

1. Respect for evidence / H1&d %ﬁmw
2. Scepticism / URIAIG

3. Prejudice / JaRIg

4. Objectivity / FTSTefam
Correct Answer :-

. Objectivity / fAsaerar

41) The commonly found fish thatis a surface feeder is /

T Y | UTS oF arelt 7Sl SifP U Y8 THRe (T W) 8:
1. Catla. / Fdal

2. Mrigals. / Tl

3. Rohu. /I

4. Common carp. / g H1Y

Correct Answer :-

o Catla. / dddl



42) The electrical device used to measure the current through an electric circuit is: /
faggq uftuy & wrenw 2 figyq & 919 & g SwahT & 9/ 9 aren fagga SusRon g 3:
1. Voltmeter / AleeHiex

2. Electroscope / ﬁw

3. Ammeter / 3THICY

4. Galvanometer / TIed-THIEY

Correct Answer :-

« Ammeter / 3THIER

43) The electronic configuration of an element is 2,8,1. The number of electrons that possess the least energy /
ot T &1 gaTei® =T 2,8,1 81 ¥ gaTel @1 T= R gHaw St gl @

1.2

2.0

3.1

4.8

Correct Answer :-

44) CANCELLED
The effect of milk of magnesia on turmeric solution is: /
T & Hie IR TARR F gU BT yUTT 98 gaT -
1. Yellow colour of turmeric solution first changes to pink then becomes colourless /
Hd 1 31 o) BT O Ugd e T H ged ST 8, TAYT T 8 ST 2|
2. Yellow colour of turmeric solution changes to blue colour /
Ui 1 P ged] 1 O i 1 H gad e 31
3. Yellow colour of turmeric solution changes to reddish brown colour /
Ui 37 Y Bt BT Uit R T H gedt ST gl
4. No effect /
IS UHE T
Correct Answer :-

« Yellow colour of turmeric solution changes to reddish brown colour /

a1 Bt gt BT Ui R T H 95 St g

45) CANCELLED

Find the thrust acting on a surface of .08m? if the pressure is 250Pa. /
I GaTd 250Pa B T .08m2 P WAE U HTRINA UUNG B J1d B |
1. 200N

2.31.25N

3.3125N

4. 20N

Correct Answer :-

* 20N



Which of the following method will be ideal for laboratory work in a class of 50 students? / fAaferRaa # & P9t faf¥r 50 s areh
TF F&T A yarT=Ien $ ord & g smexf ghfr?

1. All of the students work on the same equipment at the same time. / it B Th E‘T HHY IR Th Eﬁ JUBRU R B B %I

2. Students are divided into groups and different experiments are performed by each batch in a cyclic manner. / ST &1 Tqg! o
faufora foran ST 8 ok Ul 99 gRT U Iy adids 9§ fafis v fag od §1

3. Students are divided into groups and the same experiment is performed by each batch. / SHEI B W{@ o fauriord forar Srm § SR
U 99 gR1 T & YA f6ar ordn 2|

4. Only teacher demonstrates the experiment in front of the whole class. / %ad & € G Hefm & T T UelRia w1 8|
Correct Answer :-

. Students are divided into groups and different experiments are performed by each batch in a cyclic manner. / BT &I THg! &
faurfora foran Sman 8 iR U 99 gR1 U i i ¥ fafie gt fahe o g

47) Identify an atom with no neutrons from the following. /
frafifed @ e TP WAy A TeEE X

1. Helium / giferas

2. Tritium / f¢feam

3. Protium / MICIaH

4. Lithium / ferfdam

Correct Answer :-

« Protium / WdaH

48) A small fire in the laboratory due to sodium can be put out by: / WfETH F HFRUT TH YA & T aTelt Th BT W
3T F 3P GRT JHAAT ST THl 3:

1. Using water / UM & gRT
2. Using dry sand / Wiﬁ & GRI
3. Using moist soil /7 8] ﬁé %@‘RT

4. Using CO, based extinguisher / CO, {THTRd QD & IR GRI

Correct Answer :-

« Using dry sand /Wiﬁ & GRI

49) Collaborative learning approach develops which of the following skills in a learner? / TgaRTIAS AR TRHIT I
Rrendf & Frafafea & ¥ fva siwra &1 e garg?

1. Social and Academic skills / GTHITE 3R Qeifdres Hiwra
2. Critical thinking skills / g i pra

3. Relationship among concepts / SRS & o Jay

4. Interpretational skills / IRATHS HIA

Correct Answer :-

. Social and Academic skills / JTHTRTH 3R ﬁraﬁm AR

50) Identify the human practice that results in soil pollution. /

Y A ferareamy R TRumTaR=q geT Uguur gidT 8, SH@! Ugdr B |
1. Deforestation / GAFEEH |

2. Dumping of sewage into water bodies / STd &l & Ad STAT|
3. Use of large amounts of fertilizers and pesticides / S AT H IARb! 3R PIeT=IH BT ITINT|



4. Vehicular traffic / Alcx UGyl

Correct Answer :-

« Use of large amounts of fertilizers and pesticides / EEIREN T IdRPT 3R Ple=ID! BT IUTNT

51) Name the animal or product which does not provide vitamin D. /
I U AT IATE HT ATH FaT¢ o) fAeTfiq St uem T8 sar 2|

1. Fish / H&all|

2. Eggs/ S|

3. Pork / 3R BT A

4. Cow’s milk / 7T I g¥ |

Correct Answer :-

« Pork / 3R BT H|

52) A student is able to fix a focal length measuring apparatus despite notreading about it as a problem on his
laboratory manual. This shows the useof which dimension of the cognitive process? / T& B3T3 U& BlHd ddlg AU &
IUFHRUT Bt S B | A& § Tdih T TIRTRIET A3 W TP AT & U F 570 IR | 1 UT| 9§ WAHTHD Uohar &
fra Smamm & Iy HY gRitar @2

1. Knowledge / JTH

2. Applying / ST

3. Evaluating /WW
4. Creating / FaTor S

Correct Answer :-

. Applying / &Iﬂqtn'r[

53) Which of the following statements does NOT distinguish hypothesesfrom theories in science? / fRufifaa & ¥ 19
1 &, fagm & fasidl @ wReermsi &) s T8 Fear 82

1. Hypotheses usually are relatively narrow in scope; theories broad explanatory power. / UR&ea-Tg STHIR R RN H

3MeTeRd Yol et §: Rigia H e ameerss fad gt 81
2. Hypotheses and theories are essentially the same thing. / UWT\@ IR fygid sfFad ®u d U Bl ol %I

3. Hypotheses are guesses; theories are widely accepted ‘correct” answers. / W SITHA %; Jid AUS 0 I el
IR WPR fbt A1 51

4. Theories are hypotheses that have been proved. / Jgrad tlﬁTil'W‘ZI_"IT\'iI % SR g ﬂﬁ %I
Correct Answer :-

« Hypotheses and theories are essentially the same thing. / 1:I'ﬁle_(*q:lT\E:r GﬁT %I@'I(_‘l e wu 9 Tdh _Eap[ G| %I

54) Which of the following can provide a non-formal learning experience tostudents? / Fafif@d & @ 19 o 1 -
Stuafie ST SUT UG HY GHdT 82

1. Summer holiday written assignments / T Bt @‘@Tﬁ o faar S ara fafea ﬂ'ﬁlﬂaﬂ:{
2. Multiple choice question based test in class / D& | aﬁw U SYTRT TRIar

3. Science clubs / fa3IH FeTe

4. Conducting experiments in the laboratory / TATRIE § YA & e

Correct Answer :-

« Science clubs /ﬁ?‘ﬂ:f ENE



55) ¢Child-centred’ pedagogy means: / qra-bfsa RITRIRE &1 314 8:
1. Teacher dictating the children what should be done / e g} Y ST A % o5 1 fopan S =g U
2. The teacher leading the learning in the classroom / fRrers wen o fferma o ol '{&IW GG %I

3. Children are active participants in their own education and development / = 3o e SR fawrg & gfpg yrfier
v g1

4. Children follow a prescribed information / T Tdh ﬁ‘ﬂﬁi—d SIFGRI BT UTe Hd %I

Correct Answer :-

- Children are active participants in their own education and development / T 37O e 3R faera & Ifshy yrfterRt
GG

56) Burning sensation in stomachisdueto_____ ./ e H e BT ST - %:

1. Indigestion / 3{UTd

2. thirst / Y

3. digestion / UTd

4. Hunger / {9

Correct Answer :-

« Indigestion / U

57) What is the natural habitat of Cactus?/
FFeY BT WP AP SATITH FT 82

1. desert / IR

2. clayey land / gt 4

3. Water / SIc1

4. land / 'ﬁ[&f
Correct Answer :-

. desert/ii AT

58) Which of the following statements does not follow the scientific method? / eI A P AT YA aﬁTﬁﬁ?

Ui &1 UTa 81 Ha1 82
1. Da Vinci’s art should be costlier than Michelangelo’s art. / Gl ot &t & W@Fﬁ B HATd II?Tﬁ Eﬁ:ﬁ HT%'Q I

2. The heliocentric model should replace the geocentric model of the solar system. / WW gid (%m ared) 3l
IR YOI & Y-HSd BT YA FH=1 a1 |

3. Einstein’s theory of relativity triumphs over Newton’s theory of gravitation. / SMEXH & e & Ragia, YA &
TN & Rigid R s e o3 § 1

4. Photosynthesis produces more oxygen than respiration. / UPIR[ AT, 4 ¥ 3D RIS BT IATG Hal %I

Correct Answer :-

. Da Vinci’s art should be costlier than Michelangelo’s art. / Gl ot &t & W@Fﬁ Bl HaATd IlgTﬁ Eﬁ:ﬁ HT%'QI

59) Identify the substance which can be easily compressed by applying pressure on it. /
391 AP TAdT & YHfId fFd o1 A arad ugrd &t g s

1. Ice. / ¥

2. Carbon dioxide gas. / CACE] EEG{TW Eice]

3. Sugar crystals. / T foped



4, Water. / SIcl

Correct Answer :-

« Carbon dioxide gas. / BT SZHIZS T

60) Which of the following is not an example of ICT resources? / ﬁaﬁﬂ@a AA P Gﬂﬁ'cﬁ GHTYAY BT TP 3qleXul q_iﬁ %?
1. Social networking website / TR Aeafdt éﬁms‘c’

2. Science blog/ﬁ?ﬂq M

3. Science magazine / ﬁ?ﬂq IEER

4. Podcast / ATSHRE

Correct Answer :-

« Science magazine / IERIRRCIEED



